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2022
Chemistry

[First Semester]
Paper - GE-1T
Full Marks : 40
Time : 2 hours

The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in their own

words as far as practicable.
Illustrate the answers wherever necessary.

Group - A

1. Answer any five questions : 2×5=10

(a) What do you mean by optical active compound? Give
Example.

(b) Give E/Z nomenclature of the following compound.

D
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Br
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Cl

H
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(c) Which one more stable & why?

(+)
(+)

&

(d) Arrange the acidity order and explain :

BF3, BCl3, BBr3, BI3

(e) Write two characteristics of transition element.

(f) How many time the radius of the orbit will increase
if the electrons of the hydrogen atom move from the
first cell to the second cell.

(g) What do you mean by ionisation potential.

(h) Calculate the equivalent weight of potassium
permanganate of a redox reaction in acidic medium.

Group - B

2. Answer any four of the following : 4×5=20

(a) Write the electronic configuration of Cr and Cu+.

(b) Write electronic configuration of the two elements
with atomic numbers 11 and 17. What kind of valence
is present in the compound formed by them? 2+3=5
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3. (a) Mention the basic postulate of Bohr’s atomic model.

(b) Write Bohr’s atomic model merits and demerits.
3+2=5

4. (a) Balance the reaction by ion-electron method.

(i) Zn+NaNO3+NaOH  Na2ZnO2 + NH3 + H2O

(ii) K2Cr2O7 + H2SO4 + KI  Cr2 (SO4)3 + I2 + K2SO4

     + H2O

(b) Is 2d possible? Give reason. (2+2+1)=5

5. (a) H3PO2 is a mono basic acid – Explain.

(b) Write the conjugate acid/base of the following ion and
molecule.

HSO4
–, PO4

3–,  H2O 2+3=5

6. (a) What do you mean by Enantiomer and diastereomer?
Give example.

(b) Write the basicity order of the following compound
in aquesus medium.

(CH3)3N, (CH3)2NH, CH3NH2 (2+3)=5

7. (a) Why E.A. of Cl is grater than F?

(b) Among Fe+2 & Fe+3 which one stable and why?
2+2
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Group - C

Answer any one question.

8. (a) Write the major and minor product

?NaOMe/MeOHCH3–CH –CH–CH2 3

F

?KOH/alcoholCH3–CH –CH–CH2 3

Br


(b) Write the product and reaction mechanism.

CH4

Cl2(excess)
h

(c) Write order of nucleophilicidy

OH(–), NH2
(–), RNH2

(d) Write state of hybridisation of each of carbon atom of
CH3–CH=CH–CN 3+3+2+2=10

9. (a) Write short note :

(i)  Diagonal relationship.

(ii) Pauli’s exclusion principle.
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(b) Write R/S nomenclature of the following compound.

CHO
H OH

CH2OH

H
OH

CH3

C2H5

(c) According to Lewis concept which of the following
acid/base –

BI3, P(CH3)3, NH3, SO2

N
,  (CH3)2O (4+3+3)=10

âUWýáB - @ü
1. íY í@üáR SÜáýEýâýIý S÷ïír…[ KÙýºý[ Pá< Ú 5×2=10

@ü) #áïí]á@ü aâ¼ôZ íYðB U]ïíNý @üã íUáHü, *@üâýIý KÙýPáb[M Pá<ñ
A) âRx…â]âANý íYðB|üâ][ E/Z RáX@ü[M @ü[

D

H
C=C

D

H

Br

I
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H

B) í@üáRâýIý íUâ^ aåâyƒÿNý *UÛ í@üR?

(+) (+)

<
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C) âRx…â]âANý íYðB|üâ]ïí@ü #áâÿx‰@üNýá #Råaáïí[ aáGá< < UóáAóá
@ü[ñ
BF3, BCl3, BBr3, BI3

Dü) aâl„ýBNý íXðïí][ PåâýIý îUâ^tËýó í]Añ
ýEý) bábÙÿïíKøýáïíGR S[XáMå[ bÙÿïí]@üýIøýRâýIý S÷OX @ü¤ü íOïí@ü âk‡NýãZ

@üïí¤ü KÙýl…ãNý bïí] @ü¤üSïíO[ UóáaâýIý @üNý|üM Uçâk„ý SáïíU?
ýFý) #áZRáZR âUWýU U]ïíNý @üã íUáHü?
G) #óáâaKý XáQó ïíX í[Ký£ âUâ¼ôZá[ í¤üïí¼ SýIýáâ^ZáX

Sá[Xóá§ÿáïíRïíýIý[ Nåý]á¥ý Wýá[ BMRá @ü[ñ [K=39, Mn=55]

âUWýáB-A
íY í@üáR ýEýá[âýIý S÷ïír…[ KÙýºý[ Pá< Ú 4×5=20

2ñ @ü) Cr < Cu+ *[ bÙÿïí]@üýIøýR âURóáa í]Añ
A) 11 *UÛ 17 Sá[XáMâU@ü aÛAóáYåºýô íXð] PåâýIý[ bÙÿïí]@üýIøýR

âURóáa í]A *UÛ *ïíP[ k‡á[á BâJýNý íYðïíB[ XïíQó @üã Q[ïíR[
íYáGóNýá UNÞýXáR âUUçNý @ü[ñ

3ñ @ü) S[XáRå aÛ¼ôáÿw‚ÿ íUáïí[[ Xæ] y‡ã@üáYÞRãâNý |üâ] KÙýïíq‰A @üïí[áñ
A) íUáïí[[ S[XáMå XïíKýïí][ aáTü]ó < ¼ëâýIý |üâ] í]Añ 3+2=5

4ñ #áZR-bÙÿïí]@üýIøýR Sk„ýâNý[ aábáïíYó aXNýá âUQáR @üïí[á Ú
(i) Zn+NaNO3+NaOH  Na2ZnO2 + NH3 + H2O
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(ii) K2Cr2O7 + H2SO4 + KI  Cr2 (SO4)3 + I2 + K2SO4

     + H2O

A) 2d aÇüU â@ü? @üá[M Pá<ñ 2+2+1

5ñ @ü) H3PO2 *@üâýIý *@ü ¤üá[ãZ #óáâaKý — UóáAóá @ü[ñ
A) âRx…â]âANý #áZR < #Rå|üâ][ #RåUl„ýã #óáâaKý/¤üá[ â@ü bïíU

í]Añ
HSO4

–, PO4
3–,  H2O (2+3)=5

6ñ @ü) *RáRâa<Xá[ < KýáZáâyËøýâ[<Xá[ U]ïíNý â@ü íUáHü? KÙýPáb[M
Pá<ñ

A) G]ãZ XáQóïíX âRx…â]âANý #óáâXR aXæïíb[ ¤üá[@üïíNÿšÿ[ ¼ôX
aáGá<ñ (2+3)=5

(CH3)3N, (CH3)2NH, CH3NH2

7. @ü) T™èýâ[R #ïíS¤üá íýc‰ýáâ[ïíR[ bÙÿïí]@üýIøýR #áaâºýô íUâ^ í@üR?
A) Fe+2 < Fe+3 *[ XïíQó í@üáRâýIý íUâ^ yƒÿáZã < í@üR?

2+2
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âUWýáB - B
íY í@üáR *@üâýIý S÷ïír…[ KÙýºý[ Pá< Ú
8ñ @ü) XåAó < íBðM âUâ¼ôZáGáNý SPáOÞ|üâ] í]Añ

?NaOMe/MeOHCH3–CH –CH–CH2 3

F

?KOH/alcoholCH3–CH –CH–CH2 3

Br


A) âUâ¼ôZáGáNý SPáOÞ < âUâ¼ôZáâýIý[ â¼ôZáïí@üð^] UMÞRá @üïí[áñ

CH4

Cl2(excess)
h

B) âRKÙýâýc‰ý<âTüâ]âaâýIý[ ¼ôX í]Añ
OH(–), NH2

(–), RNH2

C) CH3–CH=CH–CN íYðBâýIýïíNý S÷âNýâýIý @üáUÞR S[XáMå[
aÛ@ü[áZR í]Añ 3+3+2+2=10

9ñ @ü) aÛâ¤üÂ ýIýä@üá í]Añ
(i)  @üMÞ axS@Þü
(ii) SáKÙýâ][ #SUGßR RãâNý

( 8 )
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A) âRx…â]âANý íYðB|üâ][ R/S RáX@ü[M @ü[ñ

CHO
H OH

CH2OH

H
OH

CH3

C2H5

B) ]åbÙÿa Nýºýš #Råaáïí[ âRïíýEý[ í@üáR|üâ] #óáâaKý *UÛ í@üáR|üâ]
¤üá[ Ú
BI3, P(CH3)3, NH3, SO2

N
,  (CH3)2O (4+3+3)=10
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